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1. For the LPP· m · · · 1.' axumse z = x + 4y subject
to the constraints x + 2y s 2, X + 2y � 8,
x, y� O

(A) zmax = 4
(B) zmax = 8

(C) . zmax = 16

(D) Has no feasible solution

2. For the probability distribution given.by

X=Xj 0 1 2 

p_ 25 5 
-

36 18 36 

the standard deviation (cr) is 

(A) J½

(B) !�
3 2 

(C) &
(D) None of the above

z = X + 4y e,� X + 2y· � 2, X + 2y -� 8,
ct 

x, y � 0 c0ZJOQ�rl%>i1 2../Jcrl�O� ri01 

TVc)() ,2,, 1:J<) 11 

(A) Zmax = 
4

(B) Zmax = 8

(C) zmax = 
16

(D) 4Je'-i?.Jd' �Wc>i�� �d.)�O�

X=� 0 1 2 

p. 25 5 1 
- -

36 18 36 

e:,o.:,li ��� c:.)?,3C)c3 (cr) o:i).) 

(A) J½

(B) !JI
3 2 

(C) &
(D) d:>e�� o:trci�d.rc> e:le.>

M 



3. 

4. 

A bag contains 17 tickets numbered from 3.
1 to 17. A ticket is drawn at random, then 
another ticket is drawn without replacing 
the first one. The probability that both 
the tickets may show even.numbers is 

(A) 

(B) 

(C) 

(D) 

7 

34 

8 

17 

7 

16 

7 

17 

A flashlight has 10 batteries out of which 
4 are dead. If 3 batteries are selected 
without replacement and tested, then the 
probability that all 3 are dead is 

(A) 1 

30 

(B)
2

(C)
1
15 

(D)
1

10 

4. 

2-..od.:> �{'C!n::jO 1 Ood 17 ;:iom.,n�cdJ 
M U � 

cl5Jc)o0dJc:.1 17 z.3e�n9-:> '«e3. �ddO z..iod.:> 
M 

z.3eLIOJJro
"I. 

o:m��wvl\ �r(dJ, �o�d 
�d��e �e� tJdO '«Ocie i:idn;�e 

M 

�e�®c::b �i"IOJJUc)l\ci. i:!dlirc) z.3e�OJJ 
e(. 

;:i�;:io�litJ� MeO�c:.1 ;:ioz;j�Ne®�afu 

(A) 
7
-

34 

(B) 
8 

17 

(C) 
7 

16 

7 
(D). 

17 

z..iod.:> �� oecrlzj, 10 t'Tc>i.3071�� 
�ooc:3 c,�r(tJ� 4 N�eFc:.1�l\c:3 
��ontJ� �ru��;:sci a ��on�� 
t,�ctTcJl! crl�eA,lJCc>n e:, �OJ t'Tc>i-30n� 
N�eFc:.1�1'dJ� ;:ioQc:.1Ne®$ 

(A) 
1 

30 
2 

(B) -
8

(C) 

(D) 

1 
15 

1 
10 



5. If Ix + 5 I � 10 then 5. 

(A) XE (-15, 5]

(B) XE (-5, 5]

(C) XE (-00, -15] U [5, 00)

(D) X E [- 001 -15] U [5, 00)

6. Everybody in ·a room shakes hands with 6.
everybody else. The total number of
handshakes is 45. The total number of
persons in the room is

7. 

(A) 9

(B) 10

(C) 5

(D) 15

The constant term in the expansion of 

( x• - x\ r
s 

is

. (A) 

7 • 

I x + 5 I � 10 e:,dd 

(A) XE (-15, 5]

(B) XE (- 5, 5]

(C) ·x E (- 00, -15] U [5, 00)

(D) XE [- 00, -15] U [5, 00)

2,.,odJ �s�o:i:>�dJ� ��o:ir.>� �igo::b)

�MLI �·6n 15;:d�c::li��c=:b ��it,��- 2..1� ·
...o't.) v...o ...0 I Q(. 

c5����7'<9 . ;do� 45 e:,do e:,

�s�o:i:>�OJ� 2,.,� �srl9 ;:do�/XD)

(A) 9

(B) 10

(C) 5

(D) 15

(A) 
16c 

8

(B) 16c 7

(C) 
16c 

9

(D) 
16c 10



8. 

9. 

If P(n).: "2
20 

- 1 is divisible by k for all 8. 

n E N" is true, then the value .of 'k' is 

(A) 6

(B) 3 ,

(C) 7

(D) 2

The equation of the line parallel to the 9�
line 3x - 4y + 2 = 0 and passing through
(- 2, 3) is 

· · 

(A) 3x-4y+ 18 = 0

(B) 3x-4y-18 = 0

(C) 3x + 4y+ 18 = 0

(D) 3x + 4y - 18. = 0

·P(n) : "220 
- 1, k · �od Q.)M�ru�o

. � J 

\;/ n E N". � ffi�(>,a ���1'do 'k' cm cil!3
. . Q 

(A) 6

(B) 3

(C) .7

(D)_ 2 

3x -' 4y + 2 = 0 o��ii �dTc>M>o�d�1'dJ 
• Q 

ci:,i) (-2, 3) ?:Joci>�� �e>5 i'Dc>dJ � 

(A) 3x-4y+ 18 = 0

(B) 3x ..:. 4y - 18 = 0

(C) 3x + 4y + 18 = 0

(D) _3x + 4y - 18 = 0

(1 
r ·e-ir· 10. If � • · = a+ ib then (a, b) is

l+i 10. : -. = a + ib e:,do (a, b) � cil!3
1 + £ 

.(A) (1, _1) (A) (1, 1)

(B). (1, 0) (B) (1, 0)

(C) (0, 1) (C) (0, 1)

(D) (0, -1)
(D) (0, -1)



11. Tho distance between the foci of a
hyperbola is 16 and its eccentricity is J2 '.
Its oquntion is
(A) x2-y2 = 32

(B) x2 - y2 -
1. 4 9 -

(C) 2x2 - 3y2 = 7
(D) y2-x2=32

12. The number of ways in which 5 girls and
3 boys can be seated in a row so that .no
two boys are together is
(A) 14040
(B) 14-440
(C) 14000
(D) 14400

13. If a, b, c are three consecutive terms
o� an AP and x, y; z .. are three

· consecutive terms of a GP, then the value
of xb - e • ye - a • za - b is
(A) 0

(B) xyz

(C) -1

(D) 1

 
A�" � cJe>0"1rl9 cd®;)�11. , 2.v.OdJ �crlcf WJCICJ<}W '1" ' ' . 

e;,o�d� 16 c±>zj e:,dd ero�{'og,�a:u:> ✓2

e:,r.dd e:,dd :::J;)J{'�d�
Q' 

(A) x2 -/ = 32
x2 y2. = 1
4 . 9(B)

(C) 2x2-S/=7
(D) /-:--x2

= 32

12. 5 abror.cmro c:bzj 3 abd:>rld� z..,od)

�i!)cdi!) �o:::Jd {'Oc)l\0 o:1Jcl�d{' wd®

abrorkb· 2.v�li �ddo3 e:,�dc:b � . �
�c,;:Jt)abCT.Jd 2.v�w�rl9 :::Jo�

(A) 14040
(B) 14440 ·
(C) 14000
(D) 14400

13. a, b, c rl� AP OOJ;)odd� �c:bWcJrt 'ZJOO�
�dJ c::k37'1Q;)f\� a5cll'Vc) x, y, z rl� GP
Olr.)000� ��W()ri 'ZJO)c3 �O)

• 
• 

• I 

crldrlQ;)f\1d xb - e • ye - a • za - b ddoix,
(A) O

(B) xyz

(C) -1

(D) 1



14. · The value of fun � is
X➔O X 

(A) 1

·(B) - 1

(C) 0

(D) Does not exist

15 .. Let f(x) = � - .! then f'(-1) is 
X 

·(A) 0

. (B) 2 

(C) 1

(D) -2

16. · The negation of the statement "72 is
divisible by 2 and 3" is

(A) 72 is not divisible by 2 or 72 is not
divisible by 3

(B) 72 is divisible by 2 or 72 is divisible
by3

(C) 72 is divisible by 2 and 72 1s
divisible by 3

(D) 72 is not divisible by 2 and 3

14.·· fun �-�ddo�' x➔O X 

(A) 1

(B) -1 .

(C) O

(D) e,)J�d�d.:>�O�
. <;)0:S M M 

15. f(x) = x- .! �do fl (-1) ofD

(A) 0.

(B) 2

(C) 1

(D) -·2

X 

16. "72 wQZJ ;:Jo�ofD 2 d>aj 3 ood

�1';:i�ru�d:>." o5��5cm c:5'a.)0�

(A) 72 wotJ ;:Jo�ofD 2 Ood
�1';:i�ru�O� e:J�Wd 72 wOZJ

,<J M 

;:Jo�,o:bJ 3 Cod �1';:i�ru�O�
<J <;J M 

_(B). 72 wotJ ;:Jo�ofD 2 cod 

-�h;:J�ru�ci . e:J�Wd 72 · wOZJ
<;J ...,, l.jJ 

;:Jo�ofD 3 Cod �1';:J�i:i)�ci 

(C) 72 wotJ �o�ofD 2 cod
�1';:J�ru�ci �aj 72 wOZJ ;:Jo�ofD
3 Cod·�h;:J�dJ�ci

(b) 72 wotJ · ;:Jo�a:b.:> 2 �aj 3 ood
�1';::l�ru�o�

<;J M 



17. The probability·9f happenin.g of an event 17. 
A is 0·5 and that of B is 0·3. If A and B

are mutually exclusive events, then the
probability of neither A nor B is

(A) 0·4

(B) 0·5

(C) 0·2

(D) ·o-9

18. In a simultaneous throw of a pair of dice, 18. 
the probability of getting a total more
than 7 is.

(A) 

(B) 

(C) 

(D) 

7 

12 

5 

36. 
5 

12 

7 

36 

(A) 0·4
(B) 0·5

(C) 0·2

(D) 0·9 ·

�5ov�di!l wdd:> o.,�rl�� cw�®eJvf\ci,

....)� 0 u-, ��� 7 oo� o5ti)
o5c)i"Qwu w� J · o 1..1 

Ofc)doj.)z..>a5JOvd rJo��c0�cru�oj))

(A) 7
·12·

(B) 5 36

(C) 5
12

(D)., . .2_ 36 

19. If A and B are· mutually exclusive events, 19. P(A) =· ¾, P(B) � ¼ el'!d.)0 A �� B
given _that P(A) =:== ¾, P(B) = ¼, then �d1d 5-r.l���d ��c3rl9J eri1o,
P(A or B) is P(A t,�w'c) B) �·cidcx:b)

· (A) 0·8

(B) 0·6
(C) 0·4
(D) 0·2

(A) 0·8

(B) 0·6
(C) 0·4
(D) 0·2



20. Lot. f, g : R ➔ R be two functions 20. w� x e R 1"{¢71 1 f, g : R ➔ R woiJ
dofined as fl'.x) = Ix I + x and 
R(x) = Ix I - x V x e R. Then (fog) (x) for c::idc.i} ero�jf9� f(x:) =. Ix I + x c:i)�

g(x) = Ix I - x c::>oOJ ��NNWe>rl x < o

7'(�71 (fog) (x) c::iomOJ· 
X < 0 is 
(A) 0

(B) 4x

(C) -4x

(D) 2x

(A) 0

(B) 4x

(C) -4x

(D) 2x
21. A is a set having 6 distinct elements. The

number of distinct functions from A to A 21.

which are not bijections is 

n� A womOJ cied cied 6 n�o?lrl9� 
a5fc)o0d. A ®od A 11 ero�®�ecdc:s��d 

(A) 6! -6

(B) 6
6

-6

(C) 6
6 

-6!

(D) 6!

22. Let f: R ➔ R be defined by

2x x>3

Rx)= x
2 l<x�3 

cieo cied ero�f«_n9 �o� 

(A) 61-6

(B) 66 -6

(C) 66 
-6!

(D) 6!

2x 

22. f: R ➔ R cii) flx) = x2

al.

x>3

l<x�3 

3x x�l 
3x x�l 

Then R-1) + f(2) + f(4) is 
(A) 9

wod.:> ��N.lJ��� f(-1) + f(2) + fl 4) cd

cic3a:m 

(B) 14·

(C) 5
(D) 10

(A) 9

(B) 14

'(C) 5 

(D) 10



23. 

24. 

25. 

. . 27t e:,f\�O, 
If sin-1 x + cos-1 y = 27t, then 23. sin-1 ·x + cos-1 Y == 5 

5 

cos-1 x + sin-1 y is 1 · -1 . � cit!5o:bJcos- x+ sin Y · 

21t 31t 21t 37t 
. (B) 

-(A) - (B) - (A) -

5 5 5. 

41t 37t 47t 31t (D) 
-

(C) - (D) - (C) -

10 5 10 5 

The value of the expression 
tan(½cos-1 1) d Q<l

( 1 -1 2
) 

. 24. 
tan 

2
COS 

✓5 
IS 

(A) 2- ✓5
(A) 2- ✓5

✓5 -2 (B) ✓5 -2
(B) 

✓5 -2 (C) 
✓5 -2

(C) 2 2 

(D) 5- ✓2 (D) 5-·✓2

If A= [_: 
-:l then An= 2kA, 

25. A= [_: -:] el\d.:> An = 2kA e:,do 
Q 

wberek= ·k=

(A) 2n-1
(A) 2n-l

(B) n+l (B). n+l 

. (C) n-1
(C) n-1

(D) 2(n- 1)
(D) 2fo-1)



26, If [-� �] [;] = [!J then the values 26. [-� �] [;] = [!] edo X m�· y 
cd ' .

ofx and y respectively are cie3n� �mW<)" 

(A) -3,-1 (A) -3;-1
(B) 1,3 (B) · 1, 3 ·
(C) 3, 1 (C) 3,1

. (D) -1, 3 (D) . -1, 3

27. If A= [ co_s ex.
- Slll CX.

sin ex.] · , then AA'=cos ex. 27. A= [ co_s ex.
-Slll CX. 

sin o.] �do AA' =cos ex. 

28. 

(A). A (A) A· · 

.. 
(B) Zero matrix (B) rlrcl1 �e�{ 

(C) A' (C) A'
(D). I (D) I

If, x, Y, z E R, then the value of 
28. x, y, z E R e_cr.:>ndeterminant 

(Sx •+ 5-x )2 (Sx _ 5-x)2 1 (Sx + 5-x)2 
. (Sx _ 5-x)2

(Gx + 6-x)2 (Gx _ 6-x)2 1 is (6x + 6-ic )� (Gx � 6-x)2

(7x + 7-x)2 (7x _ 7-x)2 1 (7x + 7-x)2 (7x _ 7-x)2

(A) 10. (A) 10

(B) 12
(B) 12

(C) 1
(C) 1

(D) 0
(D) 0

1 
1 
1 

�zjej 



29. The value of determinant
- a...:..b b+c a 

b-a c + a b is · 
c-a a+b c 

(A) · a3 + b3 + c3 ··

(B) 3abc

(C) a3 + b3 + c3 - 3abc ·

(D) a3 + b3 + �3 + 3abc

a-b 
29. b-a 

c-a 

b+c 
c+a 
a+b 

(A) a3 + b3 + c3 

(B) 3abc

C 

(C) a3 
+ b3 + ca ·_ 3abc

(D) 8
3 + b3 

+ c3 + 3abc

30. If (x1, ·y1), (x2, y2) and (x3, y3) are the 30•
vertices of a triangle whose area is 'k'

X1 Y1 4 2 

t..od:> �z;b�d �orlrle.t> (x1, Y1), (x2, Y2)

�� (x3, Y3) e:,r,c:3. e:, �z;b�d w,&{'r@F 'k'

square units, then x2 Y2 4 is 
X1 Yl 4 2 

X3 Ya 4 

(A) 32 k2 

(B) 16 k2

(C) 64k2 

(D) 48 k2 

31. Let A be a square matrix ·of order 3 x 3,
then l5AI =

(A) 5IAI

(B) 125IAI.

(C) 25IAI

(D) 15IAI

Z3cid ��r(9vdo X2 
·y2 

X3 Y3 

(A) 32k2 

(B) 16k2

(C) 64 k2 

(D) 48 k2 

31. A wo'W.)d:, 3 x 3 edo�r@d
�rlF���Wc)"1o, I 5A I ,;,,

(A) 5IAI

(B) 1251AI

(C) 25IAI

(D) 15IAI

4 � ci� 



32. If

f{x) = 

.Jl + kx - .Jl - kx. 
if -l�x<O 32. f{x) =

-.jl + kx - .Jl -kx 
if -l�x<O

2x +1 
x-1 if Osx Sl 

2x+l 

x-1
if. · 0 � X:::,; 1 ero:;�� x = 0 �l!i t,c:)?.4� eOe)n k � 

�� M �� . 

is continuous at x = 0, then the value of k 
is 

ci�o:m 

(A) k = 1

(B) k = -1

(C) k = 0

(D) k = 2 .
.

(A) k:::: 1

(B) k= -1

(C) k= O 

(D) k = 2

33. If cosy = x cos (a+ y) with cos a*± 1, 33. cosy= x cos (a+ y) c:baj cos a¢± 1 eOe)n

then dy is equal to dy 
C::S ci�

(A) 

(B) 

(C) 

(D) 

� 
� 

sin a 
cos2 (a +y) (A). 

cos2(a +y) 
sm. a· (B) 

.cos a 
s4t 2 .(a + y) ·cc)

cos2 (a +y) 
cos a (D) 

sin a 
cos2 (a +y) 

cos2 (a +y) 
sin a 

cos a 
sin 2 (a +y) 

cos2.(a +y) 
cos a 



84� If fl.:x) = I cos x ·- sin x I , then f'(i) is

equfil. to 

(A)
1 --(1+.JS)
2 

(B) 
1 2 (1 + ./3) 

(C) - ! (1- ✓3 )
2 

(D) 
1 - (1- ✓3 )2 

35. If y = 
✓

x + .}x + -Jx + ... 00 , then dy -=

(A)
1

y2 -1

(B)
1 --

2y+l 

(C)
2y

y2 -1

(D)
1 --

2y-1 

34. 

(A) - ! (1 + .J3)
2

(B) .!. (1 + .J3)
2 

(C) - ! (1- .J3)
2 

(D) ! (1- .J3)
2

35. y = '1x + .}x + -Jx. + ... oo 

1
·{A) 

y2 -1

(B) 
2y+l 

. (C) 2y
y2 -1

1
(D) 

2y-1 

e:,0.,71 dy =
dx 



36. 

37. 

is 

x=l 

continuous at x = 1, then the value ofk is 

(A) e

(C) -1

(B) 1

(D) 0

Approximate change in the volume V of a 
cube of side x metres caused by increasing 
the side by 3% is 

'36: f(x; = {

1

::; 
X¢l 

ero�..) x = 1 

x=l 
�!) e,;;)���7'dd, k � cido:m M ej� Q 

(A). e

(C) -1

(B) 1

(D) 0

37. · ���odd 2:f.>cE) x c:).)� e:,1'0-:b e:,d.:, 3%

<E�do� e:,dd ��cP<:,d V ;:Jo��ru

(approximate) t.n::km��a:l).) 



39. f(x) = .0 has stationary poi1_1t at

(A) X=e (B) X= -

e 

(C) x = 1 (D) X= ✓e

40. The maximum area of a rectangle
inscribed in the circle
(x + 1)

2 + (y - 3)2 = 64 is

(A) 64 sq. units

(B) 72 sq.- units

(C) .128 sq. units .

(D) 8 sq. units

41. f -1- dx is equal to
l+ex · 

(A) 

(B) 

(C) 

(D) loge(�] + c
ex -1 

39. f(x) = -? � ��e �od:>�

40. 

41. 

(A) 

(C) 

x=e 

x=l 

(B) x= -
e

(D) . 21: ·= ..Je

(x + 1)2 + (y _ 3)2 = 64 ��d� t.ot'b �t· :;

ecmi�� e,o�der �.l.JOvrl, e:, e:,_�c(� .L
� 

r<oci c:)&er@r� 

(A) 64 sq. units

(B) 72 sq. units

(C) ·128 sq. units

(D) ·a sq. units

f-1
- dx �d5 ��wvl'lcil+ex o 

(A) 
( e' +l l loge --;x · + c

(B) (•' ll loge 
e
; + c 

(C) ( •. l loge - +cex +l 

(D) log(�]e x +c
e -1



42. 

43. 

44. 

J 1 . dx 
J3-6x-9x2 

is eq�al to 

(A) 

(B) 

(C) 

(D) 

. -1
(

3x+l) SIU + C 
2 

. -1
(3x+l) sm +c 

- sm . + c1 . -1
(

3x+l) 
3 2 

. --1(2x + 1) sm +c . 3 

f esin x • ( sin x + 1) dx is equal to
secx 

(A) 

(B) 

(C) 

(D) 

2 

f 
-2

(A) 

(C) 

sin x • e
sin x + c

cos X • esin X + C 

0sinx + c

esin x (sin x + 1) + c

I x cos me I dx is equal to 

8 
(B) 

4 

1t 1t 

2 
(D) 

1 
1t 1t 

42. 

·43.

44. 

J 1 dx �ddcid 
Ja-6x-9x2 

(A) 

(B) 

(C) 

(D) 

Slil + C 
. -1(3x + 1) 

2 

. -1(3x + 1) Slil . + C 
6 

1 . -1 ( 3x + 1
) 

· 
- sm +c ·
3 2 

· . -1(2x. + 1) 
·.

sm +c
3 

f •"• ". ( sin x + 1) dx ;hkla:lxl
secx 

-

. (A) 

(B) 

(C) 

(D) 

2 

f -2

(A) 

(C) 

sin x • e
sin x + c

cos X • esin X + C 

0sin x + c

esin x (sin x + 1) + c

Ix cos mcl dx =

.8 
(B) 

1t 

2 
(D) 

1t 

4-

1t 

1 
. 1t 



45. 

46. 

47. 

1 
f 
0 

(A) 

(B) 

(C) 

(D) 

1/2 

f 
0 

(A) 

(B) 

(C) 

(D) 

dx is equal to ex + e-x 

¾ -:-. tan-1 (e)
tan-1 (e)- �
tan-1 (e) + �. 4 
tan-1 (e). ·

dx 

(1 + x2) .Ji- x
2 

� tan-lt✓2 3
2 t . -1(3-)- an -

✓2 ✓2 
✓2 -tan-1(�) 2 · 2 
./2 tan-1( Ja) 2 2 .

is equal to 

45. 

46. 

47. 

1 
f 
0 

(A) 

(B) 

(C) 

(D) 

1/2 

f 
0 

(A) 

dx 
X -Xe +e = 

� -·tan-I (e)4
1t tan-1 (e)- -4 
1t tan-1 (e) + 4 

· tan-I (e)

dx 

(1 + x2) J1 - x2 

� tan-1 t 
✓2 3

(B) 
2 t -1( 3 )✓2 an 

J2,- · 

(C) ✓2 tan-1(�) 2 · 2 .
(D) .· ./2 tan-1( Ja). . 2 . 2 

The area of the region bounded by_ the Y == cos x ��o�w x ·- o •. - .:i ,  I - , X = 1t  curve y = cos x between x = 0 ·and x = 1t is e:,��wvd �ci��d ;::;&��F"� .
(A) 1 sq. unit
(C) 2 sq. units (B) 4 sq. ·units (A) . 1 sq. unit

(D) 3 sq. units (C) 2 sq. Units (B) 4 sq. units
(D) 3 sq: units

11�00.· 



48. .The area bounded by the line y = x, x-axis 48. y = x �d9de�, x- e,�, x = -1 �� x = 2
and ordinates x = ....:.1 and x � 2 is . , • �od ��;;wvd z;r.,iid c:l,&er@F 

(A) 

(B)
5
2 

(C) 2

(D) 3

(A) 
3 

2 

(B) 

(C) 2

(D) 3

49. The degree and the order of the

differential equation �;' = �1+(:)" 49. �;' = �1+('!)" e�� ;:i;):)e,id"'d

respectively are �c:mr@ �� dzzFrl� ���l'l 

(A) 2 and 3

(B) 3 and 2

(C) 2 and 2

(D) 3 and 3

(A) 2 ��3
..,, 

(B) 3 �� 2·
..,, 

·(C) 2 �2..,, 

·(D) 3��3..,, 

dy 50. x 
dx 

- y = 3, eri e,�i�:3 �c:))eidr@-l. 
50. The solution of the differential equation � 

dy x 
dx 

-. y = 3 represents a family of �.;�Q;:b� tb�o?.J 

(A) straight lines (A) �d� oe�li�

(B) circles (B) -��rl�

(C) parabolas (C) �d��®li�

(D) ellipses (D) Oe�F ��,i�.)



51. The integrating factor of dy
+ y =

1 + Y 
dx X 

is

(A) xex 

(B) xe11x 

(C)
e x 

X-

(D)
X 

e x 

➔ ➔ ➔ ➔ ·.52. If I a x b I 2 + I a • b I 2 = 14.4 and➔ . ➔ I a. I = 4, then the value of I b I is

(A) 1

(C) 3

(B) 2

(D) 4

51.
l+Y dy + y =-.

X dx 

eciS.)��� ecrl��nd� 

(A) xex 

(B) xe11x 

(C) 
e x 

·x

X 
(D) 

e x 

e:,�ic':>� ;:j���dfclci 

➔ ➔ ➔ ➔ 2 ....Ju,.J,52. I a x b 1
2 

+ I a • b I = 144 w.1�
➔ ➔ 

I a . I = 4 ecr.,r( I b I c3 cido::b.) 

(A) 1

(C) 3

(B) 2

. (D) 4 

➔ ➔ 
53, If a and b are mutt.tally perpendicular 53.

➔ ➔ 
a �. b r(� crld;:jd eJoZJ w�unit vectors, then 

➔ ➔ ➔ ➔ 
(3 a + 2 b ) • (5 a - 6 b ) =

(A) 5

(B) 3

(C) 6

(D) 12

-.JA...J.,,J ....J 
➔ ➔ ➔ ➔ NW�l\9.lwo, (3 a + 2 b ) • (5 a - 6 b ) =

(A) 5

(B) 3

(C) 6

(D) 12



/\ /\ I\ I\ I\ I\ 54. If the vectors · a i + j + k , i + b j_ + k 54.
I\ /\ - I\ 

and i + j + .ck 
(a :t- b :t- c :t- 1), then 
abc - (a + b + c) =

(A) 2

(B) -2

(C) 0

(D) -1

are coplanar
the value of

➔ .,. " . ,. ➔ ,. " ,. 55. 
55. If a = i + A j + 2 k ; b = µ i + j - k

➔ ➔ 
are orthogonal and I a I = I · b I then
(A,µ)=

.(A) (!, �) 

(B) (¾, ¼)

(C)' (!, !) 

(D) (-1 �)4' 4 

I\ I\ /\. I\ I\ I\ 

. i + j + k, i + bj +
. 
k ��

I\ I\ I\ 

i + j + Ck rdo�n� �oci�

rd�ieJdiDdd (a :f.. b :t- c :t- 1), 
MQ 

ahc - (a + b + c) = 

(A) 2

(B) -2

(C) .0

(D) -1

., 
➔ I\ I\ I\ ➔ I\ I\ I\ 

a=i.+Aj+2k; b=µi+j-k 
➔ ➔ 

eJ02J �o�n�l'l� I a I = I b I e:,ri�o 

(A,µ)= 

(A) (¼, f)

(B) (¾, ¼)

(C) (¼, ¾)

(D) (-1 �)4' 4 



56. The image of the point (1, 6, 3) in the line x Y -l - � de�o:b� (1, . 6, '3)

X Y -1 Z - 2 . 
. 56• 1 = 2 - 3

1 = -2- = � lS 2!'.)QO.,c:)� 2!'.)02Jzj} 

(A) (1, 0, 7) · (A) (1, 0, 7)

(B) (7, 0, 1) (B) (7, 0, 1)

(C) (2, 7, 0) (C) (2, 7, 0)

(D) (- 1, - 6, - 3) (D) (-1, -6, - 3)

57. The angl_e �etween the lines �x = 3y = -· z 57. 2x = 3y = - z �� 6x ,; - y = - 4z de�r(�

and 6x = - y = -1z is �r;;Jc:)� arcie�� 

(A) oo

(B) 45° 

(C) 90° 

{D) 30° 

58. The value of k such . that . the line . 58.
x-4 y- 2 z-k 
-1- = -1- = -2- lies on the plane

2x -4y -+; z = 7 is 

(A) -7

(B) 4

(C) -4

(D) 7

(A) 

(B) 

(C) 

'(D) 

oo 

45° 

90° 

30° 

' 
' 

. 

2x - 4y + _z = 7 ����d c:i:>ec3 

x-4 y.:..2 z-k _.· 
-1- = - = ·- oe�o:b:> �crc,r(
' 1 2 Q 

k � ci�o:b)

(A) - -7

(Il) 4 

(C) -4·

(D) 7



59. Th� locus represented by xy + yz = O is 59.

(A) a pair of perpendicular lines

(B) a pair of parallel lines

(C) a pair of parallel planes

(D) a pair of perpendicular planes

60. The feasible region of an LPP is shown in 60.' . . 
the figure. If z = 3x + 9y, then the 
minimum value of z occurs at 

y 

(A) (5, 5)

(B) (0, 10)

(C) (0, 20)

(D) (15, 15)

xy + yz = O aj,.;NQ;:b� �tp� aj,.;Nt;,;:b�d.) 

(A) t.,od.:, ?:3.r.)� e.>o'ZJ oe�r(�

(B) t.,odJ ?:3.r.>� �c::5.J;)o3d oe�r(�

(C) · t.,od.:, ?:3.r.>� �c::5.J;)o3d �c:i,3e.,r(�

(D) t.,OO-) ?:3.r.>3 e.>0'ZJ �c:i)3e.,r(�

��d� LPP cm 4Je-t.iZJd' aj,cie��� 

atc)eO�C'.Jvl'lci. z =_3x + 9y o.fu 5N� 

cie;oi)ci, cfir.)oOd:>d �od.:,� 
<( 

y 
• 

(A) (5, 5)

(B) (0, 10).

(C) . (0, 20)

(D) q5, 15)
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